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         

     



    



          



  



  



       

    



   

  

      

     

   

  





  





   

      

    

  



  

 



   

     

  

 



   

 





 

   




  



 

           

           



  

 

    

      

       

  

     

              

 

              

 





     

  

  

     



2025 年度 一般選抜Ⅰ期 数学「数学Ⅰ」 

 

問題番号 解答記号 正解 

第 1問 

ア√イ + ウ 2√2 + 2 

√エ − オ

カ
 

√2 − 1

2
 

キ√ク + ケ

コ
 

5√2 + 5

2
 

サ√シ − ス

セ
 

5√2 − 5

2
 

ソ𝑎𝑏(タ + 𝑏)(チ − 𝑏 − ツ) 4𝑎𝑏(𝑎 + 𝑏)(𝑎 − 𝑏 − 2) 

テト

ナ
 

25

4
 

ニ√ヌ 5√2 

ネ 5 

ノハヒ√フ 375√2 

第 2問 

(ア,イ𝑎2 + ウ𝑎 − 𝑏 − エ) (𝑎, −𝑎2 + 4𝑎 − 𝑏 − 2) 

オ,カ 2,1 

(キク + ケ,  𝑎2 − コ𝑎 + 𝑏 + サ) (−𝑎 + 2, 𝑎2 − 4𝑎 + 𝑏 + 5) 

(シ,ス) (1, 7) 

セ,ソ 1, 5 

タチ𝑎2 − ツ𝑎 − テト −3𝑎2 − 7𝑎 − 11 

−
ナ

ニ
<  𝑎 < −ヌ −

9

2
<  𝑎 < −1 

第 3問 

√ア √7 

イ 1 

ウ√エ

オ
 

3√3

4
 

√カ

キ
 

√3

2
 

ク√ケ

コ
 

5√3

4
 

√サシ

ス
 

√21

3
 

セ：ソ 6：1 

タチ√ツ

テト
 

15√3

14
 

 



第 4問 

アイ 88 

ウエ 79 

オカ.キ 71.5 

クケ.コ 79.2 

サシ.ス 76.0 

セソ.タ 85.0 

チ.ツ 9.0 

テ 4 

トナ.ニ 54.0 

ヌネ.ノ 36.0 

ハ.ヒ 6.0 

 


